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Q6 Section B 2013

‘ Q6 Banking /Interest Rates / CPI

(a) (1) Explam, using a numernical example, how banks create credit i an economy.
(11) Outline two factors which linuit the ability of banks to create credit during recessionary times. (30)

(1) Explain using a numerical example. how banks create credit in an economy.

Alternative A

1. Commercial banks accept cash deposits from their customers e g say €100, for safekeeping. 4 marks

2. These banks know from expernience that their customers will only demand back a small amount of these
deposits i cash - say 10% because of their use of cheques as an acceptable method of payment. 4 marks

3. So they now have surplus cash with which to give loans - €90. 4 marks

4 The amount of loans they give is related to, but in excess of their cash deposits and is based on
their reserve ratio
4 marks
or

Increase m credit = Increase m Cash Deposits x 1 )
Banks Reserve Ratio

Numerical example: 4 marks

A person deposits €100 into a bank. The bank’s reserve ratio is 10%.
So the bank can create credit as follows:

€100 x 1 * = €1.000%[-€100 = €900%]
10%

( 1 mark per asterisked figure)
Alternative B

Balance Sheet of a Bank - 4 marks

Assets £ Liabilities €
Cash lodged by X 100 X's deposit 100
Total Assets 100 Total Liabilities 100

Balance Sheet of a Bank — 6 marks

Assets Liabilities
Cash lodged by X 100 Deposits 100
Loan 900 New Deposits 900
Total Assets 1.000 Total Liabilities 1.000

- Mr. X lodges €100 into the bank

. It knows that only 10% 1s demanded 1 cash.

_ It has enough cash to support total deposits of €1.000.

. The bank can create another €900 in deposits. It does this by giving out loans of €900.
. So €100 cash 1s sufficient for this purpose. This 1s shown in the new balance sheet.

L e

Explanation 10 marks: § at 2 marks each



(1)) Outline two factors which limit the ability of banks to create credit duning recessionary times.

1. Creditworthy customers / increased risks for banks

In times of recession many businesses experience cash flow difficulties. The risk of these compames
failing can be quite high. Banks will be cautious i terms of lending as they will be worried about the risk
of the loans not being repaid. Likewise, consumers” loans are riskier in a recession. Consumers might lose
their jobs and be unable to repay their loans.

2. Cash depaosits in the banks

A bank can only give loans provided that it can attract cash deposits. If it attracts more deposits then it can
create more credit. Inish banks have expenienced a difficulty in attracting deposits since the beginning of the
recession as people favour the higher rates of return with state savings. Depositors have been wary of
depositing money fearing that the banks might collapse.

3. Demand for loans / credit by customers

During a recession the demand for credit from businesses and consumers 1s reduced. Businesses are not
likely to invest if they think that the recession 15 going to be prolonged. Likewise consumers will not
borrow if they are worried about their job prospects.

4. Irish banks have weak halance sheets / Deleveraging

Irish banks, through reckless lending during the property boom, have weakened balance sheets. Their
ability to create new money has been greatly reduced. Also, Irish banks are being encouraged to deleverage
and shrink their balance sheets which may decrease their ability to create credit.

5. Customers' demands for cash
The bank must keep sufficient cash so as to be able to meet the demands of its customers for cash. If during
a recession people pay more of their bills in cash then their demand for cash will increase and this will

reduce the ability of the banks to create credit.
2 points at 5 marks (2+3) each
(h) Some central banks have responded to the global financial crisis by introducing the monetary

policy measure of 'Quantitative Easing’
(Le. buying financial assets from financial institutions using new money 1t has created).

(1) Outline two possible economuc effects of this measure for an economy.
The European Central Bank (ECB) reduced interest rates i 2012.
(i1) Discuss two possible economic benefits of falling interest rates for the Irish economy. 20

(1) Outline two possible economic effects of this measure for an economy.

1. Increased bank lending
With increased cash reserves the commercial banks may increase their lending.

2. Economic growth / jobs
Increased lending by banks should increase both consumer spending and investment spending which will
boost aggregate demand and help create jobs.



3. Possible inflation
If the money supply increases at a faster rate than the supply of goods and services then inflation may
increase.

4. Interest rates

An increase in the money supply. after the creation of new money which has been used to purchase
financial assets, may lead to a reduction in interest rates which may restore business confidence and help
stimulate economic activity.

5. Government bonds
If government bonds are purchased then this may cause their market price to rise leading to a decrease in
their yield.

2 points at 4 marks (2+2) each
(11) Dhscuss two possible economic benefits of falling interest rates for the Irish economy.

1. Borrowing encouraged
Borrowing is now cheaper resulting in cheaper loan repayments which will increase spending power
resulting in a higher standard of living.

2. Savings discouraged
With a lower rate of retum people may find it less attractive to save and so they will increase
their spending.

3. Reduced mortgage repayvments
The cost of monthly repayvments (on tracker mortgages) decreases resulting in increased disposable mcome
and a higher standard of living.

4. Cost of Servicing the National Debt
With lower domestic interest rates the cost of repaying the internal portion of the national debt falls.

5. Costs of Production / increased competitiveness
Cost of production will decrease resulting in lower domestic prices. This will increase the competitiveness
of Irish exports and may lead to an increase in sales.

6. Incentive to Invest
The MEC will rise resulting in increased profits and this may encourage investors. It becomes less
expensive for businesses to borrow and so they may mvest.

7. Economic Growth encouraged
With possibly increased investment / increased consumer spending future economic growth in Ireland may
be encouraged.

§. Taxation revenues

With a possible reduction in savings the government may receive less revenue through DIRT.
However. with a possible increased spending the revenue from VAT and excise duties may rise.
If unemployment decreases there will be an mcrease in mncome tax revenue.

9. Emplovment

Increased consumer spending; rising demand for Irish exports; an increase m investment and an increase in
economic growth may result in an increase in the numbers employed.

2 points at 6 marks (3+3) each



(c) The monetary policy of the ECB aims to maintaimn the annual euro area inflation rate at a very low
level.
(1)  State the rate of inflation mn Ireland during 2013, as measured by the Consumer Price Index
(11) Outline two uses of the CPI, other than as a measure of the rate of inflation.
(111) Discuss the possible limitations of the CPI as an accurate measure of changes m the cost
of living in Ireland. (23)

(1) State the rate of inflation in Ireland during 2013, as measured by the Consumer Price Index.

May 2013: 0.4%

From January 2012 to January 2013: 1.2%

5 marks

(11) Qutline two uses of the CPL other than as a measure of the rate of mflation.

1. Measures International Competitiveness /International Comparisons
By comparing our inflation rate with that of our trading pariners we can deternune whether our
competitiveness on international markets 1s improving or getting worse.

2. Indicator of economic performance
The CPI. together with statistics on employment. economuic growth. exchequer returns etc.. provide an
indicator of the country’s economic performance.

3. Indexation of savings / investments

Some savings schemes have “index-linked” returns meaning that the rate of interest will be equal to the rate
of inflation. Individuals with insurance / pension policies may be able to increase their

contributions so at to maintain the real value of these policies.

4. Used by government indexing tax bands / social welfare payvments

The government may use decreases in the CPI to index tax bands so that taxpavers are payving
more tax. Similarly the government may use decreases in the CPI to decrease rates of social
welfare so as not to interfere with the standard of living of the recipients and thereby reduce
government expenditure.

5. Used in pay negotiations

Historically trade unions / employees have used increases in the CPI as the basis for making claims fora
wage mcrease.

2 points at 5 marks (2+3) each



(1)

Discuss the possible imatations of the CPI as an accurate measure of changes in the cost of living m
Ireland.

1. Limitations of an average
The CPI represents the average spending patterns of the total population. Hence it may not represent
accurately particular groups in the population e g non-smokers: non-drinkers.

2. New products
As it includes only those products in the base year it lags behind consumer trends and fashions. New
products are not included in the index.

3. Rural versus urhan lifestyles
Both urban and rural households are represented by the present set of weights but this may not reflect
accurately changes 1n their respective cost of living.

4. Switching by consumers
When prices nse the CPI does not measure the extent to which people may switch to cheaper brands.

5. Quality of products
The index does not take account of changes in the quality of products.
Higher prices may reflect an improvement in the quality of the product.

6. Mleasures changes to prices
The CPI only measures changes to prices not changes 1n the cost of living because 1t doesn’t take imnto
account all the items whach affect a person’s living standards 1.e. income tax. social welfare etc.

7. Static weights

The weights used are those which apply m the base year.

The importance of some items in the base year changes over time because of changes in prices, taste
and income.

2 points at 5 marks (2+3) each



Q2 Section A 2012

2. State three areas of responsibility of the European Central Bank (ECB).

1.

Price Stability:

Monitors mflation in member countries and adjusts the base ECB interest rate so as to adjust
spending and maintam price stability.

EU maonetary policy:

ECB implements monetary policy - monitors and advises on rates of inferest, money supply,
credit availability & protects the value of the euro.

Official reserves of the euro area countries:

It holds and manages the EUs official holdings of gold, foreign currencies and other reserves
held as security against the 1ssue of the euro. The ECB manages these reserves on behalf of the
countries.

Supervision:

The member central banks of the Eurozone countries must provide prudential supervision of
credit mstitutions and ensure stability in the financial system / lending to Eurozone central
banks.

Issues euro currency:

The ECB has the exclusive / sole right to 1ssue euro bank notes and coins within the euro area.

3 points: 6 + 5 + 5 marks.

Q9 Section A 2011

In September 2010 approximately 5.1% of mortgage accounts were in arrears (behind on mortgage
payments) of 90 days or more. Outline two economic reasons for this development and two actions
financial mstitutions could take to help mortgage customers.

Two reasons:

1. Increased interest rates resulting in increased costs of borrowing.
2. Increased unemployment: resulting in a loss of income and difficulty i repaying mortgage.
3. Economic recession: employees have lower incomes resulting from tax increases/reductions i pay.
4. Reckless lending/ borrowing:
e 100% mortgages were issued and now lenders are unable to repay debt;
e People borrowed too much and now can’t meet the repayments.
Two actions:

1. Re-schedule the loan contract:
Extend the loan repayment period, thereby reducing the monthly repayment.
. Interest only pavments: Defer capital repayments until a later day so monthly payment falls.
. No penalty payments such as extra interest charges for those in arrears
. Debt / equity swaps: Take part ownership of the property in return for reduced repayments.
. Debt forgiveness for those with no foreseeable chance of repayment-cancel their debt.
. Re-value properties at market value and base interest repayments on this value.

th b W b2

=

17 marks (5+4+4+4)



Q6 Section B 2011

| Q6 Money, Regulation of banks, Rising interest rates

(a) Money 1s usually defined by reference to the functions it performs.
(1) Outline four functions of money.
(11) Explain the term “Monetary Policy’.
(1i1)  Explain a central bank’s function as “lender of last resort”™ (33)

(1) Four functions of money:

1. Medium of exchange
¢ Money allows people to buy goods and services/ allows exchange between buyers and
sellers
¢ Allows the buying and selling of goods/services to be broken into two distinct activities.

I

. Measure of Value
* Money enables a price to be put on goods & services.

[

. Store of Wealth
* Allows people to save for the future/can be used to make purchases in the future.

4. Standard for Deferred Payment
+ Money is capable of measuring value for a future date.
* Money makes credit trading (1.e. buying & selling) possible.

4 functions x 5 marks each

(11) Explamn "Monetary Policy’

Those actions by the ECB, which influences the money supply. interest rates and
the availability of credit.

8 marks

(111) Explain a central bank’s function as “lender of last resort”

The central bank offers credit to financial institutions experiencing financial difficulties / liquidity
problems and are unable to obtain necessary funds elsewhere.

7 marks



(b)

Many believe that a lack of supervision (light-touch regulation’) of financial mstitutions 1n Ireland
contributed significantly to the banking crisis.

Discuss the economic reasons why commercial banks in Ireland should be regulated. (200

1. Protect consumers
Regulation will ensure that the interests of the banks® consumers are protected and that savers’

deposits are secure.

2. Proper lending policies
Regulation will ensure that the banks follow correct lending procedures and that excessive /
reckless lending is avoided.

3. Banking system stability
Regulation will ensure that the banking system should remain stable.

4. Economic stability / confidence
Proper regulation may ensure that the banks operate efficiently resulting in public confidence in
the banking system/ allow for the flow of credit and for economic growth of the economy.

5. Less need for government intervention

If the banks are properly regulated then there will be less need for the government to become
mvolved as it has had to do with the guarantees for savers deposits; nationalisation of Anglo
Irish Bank; and the setting up of NAMA.

6. Less need for EU / IMF funds

If banks are properly regulated it should result in the government not having to resort to funds
from the EU/IMF to capitalise the banks.

4 points x § marks each



(c) It 15 being suggested that the ECB will increase interest rates in the 2011/2012 period.
Explain the economic effects of nising interest rates on the Irish economy. 20)

1. Borrowing discouraged
Borrowing is more expensive resulting in higher loan repayments, which will reduce spending
power, resulting in a lower standard of living.

2. Savings encouraged
With a higher rate of refurn people may find it more aftractive to save, and so they will reduce
their spendmg.

3. Increased mortgage repayments
The cost of monthly repayments increases, resulting in reduced disposable income and a lower
standard of hving_

4. Increased cost of servicing the National Debt
‘With higher domestic interest rates the cost of repaying the internal portion of the national debt
rises.

5. Increased costs of production / reduced competitiveness
Cost of production will increase resulting in higher domestic prices. This will reduce the
competitiveness of Irish exports and may lead to reduction in sales.

6. Disincentive to Invest
The MEC will fall resulting in lower profits and this may discourage investors /
it becomes more expensive for businesses to borrow and so they may not invest.

7. Economic Growth hindered
With possible lower investment, future economic growth in Ireland may be damaged.

8. Taxation revenue effects

With additional savings the government may receive additional revenue through DIRT.
However, with lower spending the revenue from VAT and excise duties may fall.

If unemployment increases there will be a reduction in income tax revenue.

9. Increases in Unemplovment

Lower consumer spending, falling demand for Irish exports, a reduction m investment and a
decline in economic growth may result in an increase in the numbers unemployed.

4 points x 5 marks each



Q6 Section B 2010

| Question 6 Banking, Economic Aims, Monetarism

(a) It has been suggested that the main commercial (retail) banks in Ireland should be nationalised.

(1) Explamn the underlined terms.

(11) Outline two possible economic arguments for and two possible economic arguments against the

nationalisation of the banks.

(1) Explain the underlined terms.

Commercial banks

(30 marks)

S marks

Institutions which provide deposit / lending services to personal consumers / business.

Nationalisation

5 marks

Taking an industry or assets info public ownership by a government.

(1) Twao possible economic arguments for and two possible economme arguments against the nationalisation

Economic arguments FOR

Economic arguments AGAINST

Stability to economy / investor confidence
It may signal to domestic and international
investors that the state seeks to protect an
important resource and so attract investment.

Unnecessary state interference

Too much state involvement in commercial
busmesses may discourage domestic /
mternational mvestors.

Availability of credit
It may ensure that credit would flow to those
individuals and businesses which require it,

unlike at present where credit restrictions apply.

Shareholders penalised
They may be forced to sell their shares at a price
deemed unfair.

Rationalisation of banking services

It may lead to a rationalisation of banking
services within the state, the elimination of
wasteful practices / cost efficiencies.

Increased taxation
Taxes may have to be increased to fund the
purchase and running of the nationalised banks.

Employment / consumer protection

Jobs currently under threat may be protected by
state intervention. Consumers may be offered
better protection by state banks.

Opportunity costs

The money used for the nationalisation could
have been put to alternative uses by the state e g.
provision of improved health services ete.

Development of ethical banking practices
With nationalisation banking practices may be
less motivated by the generation of profit and
more towards the provision of those services
required by consumers.

Profit motive diminished

Should this occur then the pressure to improve
services; achieve efficiencies and maximise
profits maybe be dimunished.

Continued provision of banking services to
the community/ prevent foreign ownership
The nationalised bank may continue to provide
retail services to those communities which in
the past were only provided if the branch was
profitable/social objective

Financial Cost

Large amount of funds needed to ensure their
future and they could continue to be loss-making
mnto the foreseeable future.

2 at 5 marks each.
State: 2 marks. Explain: 3 marks.

2 at 5 marks each.
State: 2 marks. Explain: 3 marks.




(b) (1) State and explain what vou consider to be the three most important economuc aims of
the Irish Government.
(i1) Outline two examples of possible conflicts between government economic aims/objectives.
(25 marks)

1. Achieve Full Employment.
Pursue policies which will improve our competitiveness, boost exports and so help create jobs in

Ireland.

2. Achieve moderate economic growth.
The government must try to manage current downtum in economic activity and ensure that we refurn
to a position of some economic growth. Appropriate fiscal policy may help towards achieving this.

3. Control government finances / reduce borrowing / manage the national debt.
The government must continue to reduce spending. It must also widen the tax base so as to increase
taxation revenues. These measures will help reduce borrowing and help reduce the national debt.

4. Stability in the banking sector.

The state guarantee on depositors saving, the nationalisation of Anglo Irish Bank and the
establishment of NAMA are all aimed at restoring confidence to the banking sector, restore credit
availability, generate confidence in domestic and international investors and so encourage investment.

5. Broaden the tax base.

Many believe that we relied too much on the property boom for taxation revenues. The

government must now plan to introduce new taxes, eliminate tax evasion; bring more workers into the
income tax net and so generate a greater flow of tax revenues.

6. Promote balanced regional development.

The National Development Plan aims to do this. The government must develop broadband, ensure the
continuity of regional airports, develop/promote educational opportunities m the regions so as to
stimulate economic activity and encourage economic growth.

7. Improve infrastructure.

The continued development of the road infrastructure, provision of improved public transport,
continued development of the airports and seaports ete. 1s essential to ensure that our standard of
living 15 maintained.

8. Maintain state services.

Even though taxation revenues are declining the government must ensure that our health services are
maintained and made more efficient, that schools are built and staffed and that practices are
developed to ensure the long term viability of these essential services e.g. possibility of charges;
changed entry requirements for the provision of “free” services.

9. Distribution of wealth.

The government must continue to ensure that social welfare recipient’s standard of living 1s
maintained, that it provides adequately for future pensions and helps to redistribute income within the
state, given the current constraints on government current spending.

3 at 5 marks each.
State: 2 marks. Explain: 3 marks.



(1) Outline two examples of possible conflicts between government economic aims/objectives.

—

. Control of national finances v. full employment.

o]

. Control of national finances v. Economic growth.

. Distribution of wealth v. broadening the tax base.

. Stability in banking sector v. control of government finances.
Balanced regional development v maintaining state services.

[ R S PV

. Full employment v. price stability.

2 conflicts at S marks each. State:

2 marks. Explain: 3 marks.

(¢) The econonust Milton Friedman was regarded as one of the major thinkers of the monetanst school of
economuc thought. Outline four features of "‘Monetarism’. (20 marks)

Monetary policy should be the main instrument used by the government to manage the
econonty and not fiscal policy. Increased government expenditure would only lead to higher
prices and not increased output and employment as advocated by Keynes.

Control of money supply
Monetarists suggest strict control of the money supply so as to control inflation.
Limiting credit availability, keeping interest rates high would control consumer borrowing.

Reduction in inflation increases competitiveness which may lead to relatively cheaper
exports, increased exports and job creation in the long run. Companies should keep wage
mnereases to a minimum in order to avoid cost-push inflation.

Laissez faire principles
Monetarists favour a return to laissez faire principles: minimum state intervention:
de-regulation of markets: privatisation of state bodies.

Supply side policies
Monetarists favoured any policies which improve market efficiency / boost supply
reduce the ability of trade unions to interfere with the labour market.

4 at 5 marks each.

State: 2 marks. Explain: 3 marks.
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